
• ÇİFT AÇILIM GİZLİ RAYLI 4 SEPETLİ AHŞAP TABANLI 20 CM ŞİŞELİK MONTAJ ŞEMASI (SAĞ)
• 20 CM BOTTLE HOLDER WITH FULL EXTENSION UNDERMOUNT RAIL AND 4 WOODEN BOTTOM BASKETS MOUNTING INSTRUCTION (RIGHT)

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001

A-1 A-2 B-1 C-1

D-2 E-1 E-2

9x
3.5x16

16x
3.5x16

8x
M6x10 YHB

8x
M6x10 YSB

6x
M4x8 YSB18

 37
54

2
 1

01
0 

46
156

252

D-1

 18 

 31 
 53  28  53 

 200 

 1
8 

 35 

 1
8 

82 10
0

 5
05

 
 5

05
 

 5
05

 

 200 

 18 

 1
8 



• ÇİFT AÇILIM GİZLİ RAYLI 4 SEPETLİ AHŞAP TABANLI 20 CM ŞİŞELİK MONTAJ ŞEMASI (SOL)
• 20 CM BOTTLE HOLDER WITH FULL EXTENSION UNDERMOUNT RAIL AND 4 WOODEN BOTTOM BASKETS MOUNTING INSTRUCTION (LEFT)

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001

A-1 A-2 B-1 C-1

D-2 E-1 E-2

9x
3.5x16

16x
3.5x16

8x
M6x10 YHB

8x
M6x10 YSB

6x
M4x8 YSB 1

8 37
54

2
 1

01
0 

46
156

252

D-1

18
82 10

0
 5

05
 

 5
05

 
 5

05
 

 200 

 18 

 1
8 

 18 

 31 
 53  28  53 

 200 

 1
8 

 35 



D-1

 5
05

 
 5

05
 

 5
05

 
 1

00
 8

2
 1

8 

 150 

 1
8 

 86  29 

 18 

 150 

 29  28 

 35 

 1
8 

• ÇİFT AÇILIM GİZLİ RAYLI 4 SEPETLİ AHŞAP TABANLI 15 CM ŞİŞELİK MONTAJ ŞEMASI (SAĞ)
• 15 CM BOTTLE HOLDER WITH FULL EXTENSION UNDERMOUNT RAIL AND 4 WOODEN BOTTOM BASKETS MOUNTING INSTRUCTION (RIGHT)

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001

A-1 A-2 B-1 C-1

D-2 E-1 E-2

9x
3.5x16

16x
3.5x16

8x
M6x10 YHB

8x
M6x10 YSB

6x
M4x8 YSB 1

8  3
7

54
2

 1
01

0 

46
156

252



• ÇİFT AÇILIM GİZLİ RAYLI 4 SEPETLİ AHŞAP TABANLI 15 CM ŞİŞELİK MONTAJ ŞEMASI (SOL)
• 15 CM BOTTLE HOLDER WITH FULL EXTENSION UNDERMOUNT RAIL AND 4 WOODEN BOTTOM BASKETS MOUNTING INSTRUCTION (LEFT)

staraxaccessories starax staraxofficial www.starax.com.trstarax ISO 9001

A-1 A-2 B-1 C-1

D-2 E-1 E-2

9x
3.5x16

D-1

 5
05

 
 5

05
 

 5
05

 
10

0
82

 1
8 

 150 

 1
8 

 86  29 

 18 

 150 

 29  28 

 35 

 1
8 

16x
3.5x16

8x
M6x10 YHB

8x
M6x10 YSB

6x
M4x8 YSB 1

8 37
54

2
 1

01
0 

46
156

252


